ITB No. 24-101673
ITB Name: Stormwater Drainage Infrastructure System Repair For Public Works – American Rescue Plan Act Projects (Multiyear Contract)

BID TABULATION

Bid Opening Date: August 22, 2024 Price Schedule Opening: Agent: Kyheem Bristol

Vorks –	American Rescue Plan Act Projects (Multiyear Contract)								
	COMPANY				South, Inc.	Kemi Construction Co, Inc.		GS Construction, Inc.	
ITEM No.	DESCRIPTION	UNIT	APPROX. QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
1	Clean & Pre CCTV Survey 16" and Smaller (less than 50% full)	LF	50	\$5.00	\$250.00	\$100.00	\$5,000.00	\$25.00	\$1,250.00
2	Clean & Pre CCTV Survey 16" and Smaller (50% full or greater)	LF	50	\$7.00	\$350.00	\$100.00	\$5,000.00	\$50.00	\$2,500.00
3	Clean & Pre CCTV Survey 18" to 36" (less than 50% full)	LF	50	\$8.00	\$400.00	\$200.00	\$10,000.00	\$75.00	\$3,750.00
4	Clean & Pre CCTV Survey 18" to 38" (50% full or greater)	LF	50	\$10.00	\$500.00	\$220.00	\$11,000.00	\$100.00	\$5,000.00
5	Clean & Pre CCTV Survey 42" and Greater (less than 50% full)	LF	50	\$12.00	\$600.00	\$250.00	\$12,500.00	\$300.00	\$15,000.00
6	Clean & Pre CCTV Survey 42" and Greater (50% full or greater)	LF	50	\$15.00	\$750.00	\$275.00	\$13,750.00	\$500.00	\$25,000.00
7	Post CCTV Survey	LF	50	\$12.00	\$600.00	\$20.00	\$1,000.00	\$20.00	\$1,000.00
8	8" RCP	LF	50	\$46.00	\$2,300.00	\$20.00	\$1,000.00	\$185.00	\$9,250.00
9	10" RCP	LF	50	\$49.00	\$2,450.00	\$30.00	\$1,500.00	\$200.00	\$10,000.00
10	12" RCP	LF	50	\$52.00	\$2,600.00	\$150.00	\$7,500.00	\$225.00	\$11,250.00
11	16" RCP	LF	50	\$56.00	\$2,800.00	\$250.00	\$12,500.00	\$250.00	\$12,500.00
12	18" RCP	LF	50	\$75.00	\$3,750.00	\$275.00	\$13,750.00	\$300.00	\$15,000.00
13	24" RCP	LF	50	\$95.00	\$4,750.00	\$310.00	\$15,500.00	\$350.00	\$17,500.00
14	30" RCP	LF	50	\$150.00	\$7,500.00	\$320.00	\$16,000.00	\$400.00	\$20,000.00
15	36" RCP	LF	50	\$163.00	\$8,150.00	\$325.00	\$16,250.00	\$450.00	\$22,500.00
16	42" RCP	LF	60	\$245.00	\$14,700.00	\$430.00	\$25,800.00	\$500.00	\$30,000.00
17	48" RCP	LF	60	\$295.00	\$17,700.00	\$480.00	\$28,800.00	\$550.00	\$33,000.00
18	54" RCP	LF	50	\$355.00	\$17,750.00	\$425.00	\$21,250.00	\$600.00	\$30,000.00
19	60" RCP	LF	60	\$445.00	\$26,700.00	\$480.00	\$28,800.00	\$650.00	\$39,000.00
20	66" RCP	LF	60	\$606.00	\$36,360.00	\$550.00	\$33,000.00	\$700.00	\$42,000.00
21	72" RCP	LF	60	\$708.00	\$42,480.00	\$600.00	\$36,000.00	\$800.00	\$48,000.00
22	8" CMP-Type 2 Steel	LF	50	\$45.00	\$2,250.00	\$50.00	\$2,500.00	\$200.00	\$10,000.00
23	10" CMP-Type 2 Steel	LF	50	\$49.00	\$2,450.00	\$50.00	\$2,500.00	\$225.00	\$11,250.00
24	12" CMP-Type 2 Steel	LF	50	\$55.00	\$2,750.00	\$100.00	\$5,000.00	\$250.00	\$12,500.00
25	16" CMP-Type 2 Steel	LF	50	\$60.00	\$3,000.00	\$200.00	\$10,000.00	\$300.00	\$15,000.00
26	18" CMP-Type 2 Steel	LF	100	\$65.00	\$6,500.00	\$275.00	\$27,500.00	\$350.00	\$35,000.00
27	24" CMP-Type 2 Steel	LF	50	\$75.00	\$3,750.00	\$285.00	\$14,250.00	\$400.00	\$20,000.00
28	30" CMP-Type 2 Steel	LF	100	\$95.00	\$9,500.00	\$295.00	\$29,500.00	\$450.00	\$45,000.00
29	36" CMP-Type 2 Steel	LF	70	\$150.00	\$10,500.00	\$310.00	\$21,700.00	\$500.00	\$35,000.00
30	42" CMP-Type 2 Steel	LF	60	\$195.00	\$11,700.00	\$325.00	\$19,500.00	\$550.00	\$33,000.00
31	48" CMP-Type 2 Steel	LF	100	\$225.00	\$22,500.00	\$400.00	\$40,000.00	\$600.00	\$60,000.00
32	54" CMP-Type 2 Steel	LF	60	\$255.00	\$15,300.00	\$450.00	\$27,000.00	\$650.00	\$39,000.00
33	60" CMP-Type 2 Steel	LF	60	\$285.00	\$17,100.00	\$475.00	\$28,500.00	\$700.00	\$42,000.00
34	66" CMP-Type 2 Steel	LF	60	\$445.00	\$26,700.00	\$490.00	\$29,400.00	\$800.00	\$48,000.00
35	72" CMP-Type 2 Steel	LF	60	\$525.00	\$31,500.00	\$600.00	\$36,000.00	\$900.00	\$54,000.00
36	Extra depth of cover (10- 15 ft.)	LF	250	\$75.00	\$18,750.00	\$80.00	\$20,000.00	\$200.00	\$50,000.00
37	Extra depth of cover (15- 20 ft.)	LF	250	\$95.00	\$23,750.00	\$80.00	\$20,000.00	\$400.00	\$100,000.00
38	Extra depth of cover (20- 25 ft.)	LF	250	\$120.00	\$30,000.00	\$80.00	\$20,000.00	\$500,00	\$125,000.00

	COMPANY				South, Inc.	Kemi Construction Co, Inc.		GS Construction, Inc.	
ITEM No.	DESCRIPTION	UNIT	APPROX. QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
39	12" Poly Pipe Liner	LF	50	\$30.00	\$1,500.00	\$200.00	\$10,000.00	\$350.00	\$17,500.00
40	15" Poly Pipe Liner	LF	50	\$45.00	\$2,250.00	\$200.00	\$10,000.00	\$400.00	\$20,000.00
41	18" Poly Pipe Liner	LF	100	\$60.00	\$6,000.00	\$250.00	\$25,000.00	\$450.00	\$45,000.00
42	24" Poly Pipe Liner	LF	150	\$100.00	\$15,000.00	\$320.00	\$48,000.00	\$500.00	\$75,000.00
43	27" Poly Pipe Liner	LF	100	\$125.00	\$12,500.00	\$350.00	\$35,000.00	\$550.00	\$55,000.00
44	30" Poly Pipe Liner	LF	150	\$135.00	\$20,250.00	\$375.00	\$56,250.00	\$600.00	\$90,000.00
45	36" Poly Pipe Liner	LF	100	\$195.00	\$19,500.00	\$400.00	\$40,000.00	\$650.00	\$65,000.00
46	42" Poly Pipe Liner	LF	100	\$225.00	\$22,500.00	\$450.00	\$45,000.00	\$700.00	\$70,000.00
47	4" PVC	LF	50	\$25.00	\$1,250.00	\$50.00	\$2,500.00	\$200.00	\$10,000.00
48	6" PVC	LF	50	\$35.00	\$1,750.00	\$80.00	\$4,000.00	\$250.00	\$12,500.00
49	8" PVC	LF	50	\$45.00	\$2,250.00	\$90.00	\$4,500.00	\$300.00	\$15,000.00
50	10" PVC	LF	50	\$65.00	\$3,250.00	\$90.00	\$4,500.00	\$350.00	\$17,500.00
51	12" PVC	LF	50	\$90.00	\$4,500.00	\$100.00	\$5,000.00	\$400.00	\$20,000.00
52	12" Conc. FES	EA	5	\$900.00	\$4,500.00	\$500.00	\$2,500.00	\$2,500.00	\$12,500.00
53	15" Conc. FES	EA	5	\$1,150.00	\$5,750.00	\$2,000.00	\$10,000.00	\$3,500.00	\$17,500.00
54	18" Conc. FES	EA	5	\$1,350.00	\$6,750.00	\$2,500.00	\$12,500.00	\$5,000.00	\$25,000.00
55	24" Conc. FES	EA	5	\$1,800.00	\$9,000.00	\$2,500.00	\$12,500.00	\$7,500.00	\$37,500.00
56	30" Conc. FES	EA	5	\$2,150.00	\$10,750.00	\$3,000.00	\$15,000.00	\$10,000.00	\$50,000.00
57	36" Conc. FES	EA	5	\$3,000.00	\$15,000.00	\$3,500.00	\$17,500.00	\$15,000.00	\$75,000.00
58	42" Conc. FES	EA	5	\$3,200.00	\$16,000.00	\$4,000.00	\$20,000.00	\$25,000.00	\$125,000.00
59	Std. Brick MH	VF	10	\$525.00	\$5,250.00	\$1,000.00	\$10,000.00	\$1,800.00	\$18,000.00
60	Std. Brick CB	VF	10	\$525.00	\$5,250.00	\$1,000.00	\$10,000.00	\$1,800.00	\$18,000.00
61	Std. Precast MH	VF	50	\$525.00	\$26,250.00	\$1,000.00	\$50,000.00	\$2,000.00	\$100,000.00
62	Std. Precast CB	VF	50	\$525.00	\$26,250.00	\$1,000.00	\$50,000.00	\$1,800.00	\$90,000.00
63	8" CMP, FES Type 2 Steel	EA	10	\$325.00	\$3,250.00	\$50.00	\$500.00	\$300.00	\$3,000.00
64	10" CMP, FES Type 2 Steel	EA	10	\$350.00	\$3,500.00	\$50.00	\$500.00	\$350.00	\$3,500.00
65	12" CMP, FES Type 2 Steel	EA	10	\$400.00	\$4,000.00	\$50.00	\$500.00	\$400.00	\$4,000.00
66	16" CMP, FES Type 2 Steel	EA	10	\$425.00	\$4,250.00	\$1,000.00	\$10,000.00	\$450.00	\$4,500.00
67	18" CMP, FES Type 2 Steel	EA	10	\$450.00	\$4,500.00	\$1,200.00	\$12,000.00	\$500.00	\$5,000.00
68	24" CMP, FES Type 2 Steel	EA	10	\$500.00	\$5,000.00	\$2,000.00	\$20,000.00	\$550.00	\$5,500.00
69	30" CMP, FES Type 2 Steel	EA	6	\$800.00	\$4,800.00	\$2,000.00	\$12,000.00	\$600.00	\$3,600.00
70	36" CMP, FES Type 2 Steel	EA	6	\$1,200.00	\$7,200.00	\$2,500.00	\$15,000.00	\$650.00	\$3,900.00
71	42" CMP, FES Type 2 Steel	EA	6	\$1,800.00	\$10,800.00	\$2,500.00	\$15,000.00	\$700.00	\$4,200.00
72	18" Precast HW	EA	50	\$950.00	\$47,500.00	\$1,500.00	\$75,000.00	\$5,000.00	\$250,000.00
73	24" Precast HW	EA	6	\$1,150.00	\$6,900.00	\$2,500.00	\$15,000.00	\$10,000.00	\$60,000.00
74	36" Precast HW	EA	6	\$1,800.00	\$10,800.00	\$3,000.00	\$18,000.00	\$15,000.00	\$90,000.00
75	42" Precast HW	EA	6	\$2,200.00	\$13,200.00	\$3,750.00	\$22,500.00	\$25,000.00	\$150,000.00
76	48" Precast HW	EA	6	\$2,500.00	\$15,000.00	\$4,500.00	\$27,000.00	\$40,000.00	\$240,000.00
77	54" Conc. HW Cast in place	EA	6	\$3,500.00	\$21,000.00	\$5,500.00	\$33,000.00	\$45,000.00	\$270,000.00
78	60" Conc. HW Cast in place	EA	6	\$4,500.00	\$27,000.00	\$6,000.00	\$36,000.00	\$50,000.00	\$300,000.00
79	Conc. Apron (includes #4 rebar @ 12" o.c./e.w. with toe wall)	CY	100	\$85.00	\$8,500.00	\$1,000.00	\$100,000.00	\$300.00	\$30,000.00

	COMPANY			Jewel of the South, Inc.		Kemi Construction Co, Inc.		GS Construction, Inc.	
ITEM No.	DESCRIPTION	UNIT	APPROX. QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
80	Concrete Apron (no steel)	CY	100	\$65.00	\$6,500.00	\$800.00	\$80,000.00	\$350.00	\$35,000.00
81	Conc. Flume (no steel)	CY	50	\$65.00	\$3,250.00	\$900.00	\$45,000.00	\$400.00	\$20,000.00
82	Conc. Flume (includes #4 rebar @ 6" o.c./e.w.)	CY	50	\$75.00	\$3,750.00	\$1,000.00	\$50,000.00	\$450.00	\$22,500.00
83	Special Brick Structures (Const.)	CY	25	\$800.00	\$20,000.00	\$2,000.00	\$50,000.00	\$500.00	\$12,500.00
84	Misc. Concrete Structures (includes #4 rebar @ 6" o.c./e.w.)	CY	20	\$55.00	\$1,100.00	\$2,000.00	\$40,000.00	\$1,000.00	\$20,000.00
85	24" high back curb, remove & replace	LF	200	\$40.00	\$8,000.00	\$90.00	\$18,000.00	\$50.00	\$10,000.00
86	30" high back curb, remove & replace	LF	200	\$45.00	\$9,000.00	\$95.00	\$19,000.00	\$55.00	\$11,000.00
87	24" roll back curb, remove & replace	LF	100	\$45.00	\$4,500.00	\$90.00	\$9,000.00	\$50.00	\$5,000.00
88	30" roll back curb, remove & replace	LF	100	\$50.00	\$5,000.00	\$95.00	\$9,500.00	\$55.00	\$5,500.00
89	New granite curb Includes backfill	LF	100	\$75.00	\$7,500.00	\$120.00	\$12,000.00	\$100.00	\$10,000.00
90	Adjust granite curb Includes backfill	LF	200	\$55.00	\$11,000.00	\$95.00	\$19,000.00	\$75.00	\$15,000.00
91	Concrete Pipe collars (all pipe sizes)	CY	10	\$1,250.00	\$12,500.00	\$1,000.00	\$10,000.00	\$1,000.00	\$10,000.00
92	Brick Pipe collars (all pipe sizes)	CY	10	\$1,150.00	\$11,500.00	\$1,000.00	\$10,000.00	\$750.00	\$7,500.00
93	Remove Exist. Pipes (all types)	LF	100	\$45.00	\$4,500.00	\$240.00	\$24,000.00	\$25.00	\$2,500.00
94	Classified Stone (#57, 3 & 5)	TON	50	\$75.00	\$3,750.00	\$120.00	\$6,000.00	\$75.00	\$3,750.00
95	Road Restoration >10 ft. wide to sub-base	SY	50	\$65.00	\$3,250.00	\$250.00	\$12,500.00	\$250.00	\$12,500.00
96	Road Restoration Principal Arterial (to sub-base)	SY	50	\$75.00	\$3,750.00	\$250.00	\$12,500.00	\$200.00	\$10,000.00
97	Road Restoration Major Arterial (to sub-base)	SY	50	\$85.00	\$4,250.00	\$250.00	\$12,500.00	\$225.00	\$11,250.00
98	Road Restoration Minor Arterial (to sub-base)	SY	50	\$75.00	\$3,750.00	\$250.00	\$12,500.00	\$200.00	\$10,000.00
99	Road Restoration Major Collector (to sub-base)	SY	50	\$65.00	\$3,250.00	\$250.00	\$12,500.00	\$225.00	\$11,250.00
100	Remove tree stumps 25" to 36" diameter 2 ft. from ground	EA	10	\$350.00	\$3,500.00	\$2,500.00	\$25,000.00	\$1,000.00	\$10,000.00
101	Remove tree stumps 37" to 42" diameter 2 ft. from ground	EA	6	\$450.00	\$2,700.00	\$3,500.00	\$21,000.00	\$4,000.00	\$24,000.00
102	Rip-Rap Check dams	CY	10	\$115.00	\$1,150.00	\$800.00	\$8,000.00	\$1,100.00	\$11,000.00
103	Removal tree stumps 12" to 24" diameter 2ft. from ground	EA	10	\$250.00	\$2,500.00	\$2,000.00	\$20,000.00	\$2,500.00	\$25,000.00
104	Removal tree stumps 25" to 36" diameter 2ft. from ground	EA	10	\$350.00	\$3,500.00	\$2,500.00	\$25,000.00	\$3,500.00	\$35,000.00
105	Removal tree stumps 37" to 42" diameter 2ft. from ground	EA	6	\$450.00	\$2,700.00	\$3,500.00	\$21,000.00	\$4,500.00	\$27,000.00
106	Grinding of stump 12" to 24" diameter 2ft from ground	EA	10	\$150.00	\$1,500.00	\$1,500.00	\$15,000.00	\$5,500.00	\$55,000.00
107	Grinding of stump 25" to 36" diameter 2ft. from ground	EA	10	\$250.00	\$2,500.00	\$2,500.00	\$25,000.00	\$6,500.00	\$65,000.00
108	Grinding of stump 37" to 42" diameter 2ft. from ground	EA	10	\$300.00	\$3,000.00	\$3,000.00	\$30,000.00	\$7,500.00	\$75,000.00
109	Tucco Block Walls includes mortar & wall drain lines (block furnished)	Per 2'x 4' block	640	\$150.00	\$96,000.00	\$50.00	\$32,000.00	\$100.00	\$64,000.00
110	Drop Inlets 1-10 ft. Depth	EA	10	\$4,500.00	\$45,000.00	\$7,500.00	\$75,000.00	\$7,500.00	\$75,000.00
111	Manholes 1-10 ft. Depth	EA	10	\$5,500.00	\$55,000.00	\$7,500.00	\$75,000.00	\$10,000.00	\$100,000.00
112	8" poly pipes	LF	40	\$40.00	\$1,600.00	\$20.00	\$800.00	\$250.00	\$10,000.00
113	10" poly pipes	LF	40	\$45.00	\$1,800.00	\$40.00	\$1,600.00	\$300.00	\$12,000.00
114	12" poly pipes	LF	40	\$50.00	\$2,000.00	\$50.00	\$2,000.00	\$350.00	\$14,000.00
115	16" poly pipes	LF	40	\$55.00	\$2,200.00	\$180.00	\$7,200.00	\$400.00	\$16,000.00

	COMPANY	Jewel of the	South, Inc.	Kemi Construction Co, Inc.		GS Construction, Inc.			
ITEM No.	DESCRIPTION	UNIT	APPROX. QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
116	18" poly pipes	LF	40	\$75.00	\$3,000.00	\$185.00	\$7,400.00	\$450.00	\$18,000.00
117	24" poly pipes	LF	40	\$125.00	\$5,000.00	\$200.00	\$8,000.00	\$500.00	\$20,000.00
118	30" poly pipes	LF	40	\$175.00	\$7,000.00	\$240.00	\$9,600.00	\$550.00	\$22,000.00
119	36" poly pipes	LF	40	\$240.00	\$9,600.00	\$245.00	\$9,800.00	\$600.00	\$24,000.00
120	42" poly pipes	LF	40	\$315.00	\$12,600.00	\$275.00	\$11,000.00	\$650.00	\$26,000.00
121	48" poly pipes	LF	40	\$350.00	\$14,000.00	\$295.00	\$11,800.00	\$700.00	\$28,000.00
122	54" poly pipes	LF	40	\$425.00	\$17,000.00	\$300.00	\$12,000.00	\$750.00	\$30,000.00
123	60" poly pipes	LF	40	\$475.00	\$19,000.00	\$350.00	\$14,000.00	\$800.00	\$32,000.00
124	66" poly pipes	LF	40	\$500.00	\$20,000.00	\$350.00	\$14,000.00	\$850.00	\$34,000.00
125	72" poly pipes	LF	40	\$606.00	\$24,240.00	\$85.00	\$3,400.00	\$900.00	\$36,000.00
126	Replace wooden fence	LF	200	\$45.00	\$9,000.00	\$85.00	\$17,000.00	\$100.00	\$20,000.00
127	Fencing, 4-ft. high 11 gage wire (includes gates, all colors)	LF	200	\$35.00	\$7,000.00	\$85.00	\$17,000.00	\$25.00	\$5,000.00
128	Fencing removal & disposal, wood or metal	LF	100	\$15.00	\$1,500.00	\$40.00	\$4,000.00	\$25.00	\$2,500.00
129	GDOT Std. 1033 Pre-cast Lid replace or install new	EA	20	\$750.00	\$15,000.00	\$4,000.00	\$80,000.00	\$2,500.00	\$50,000.00
130	GDOT Std. 1034 Pre-cast Lid replace or install new	EA	20	\$900.00	\$18,000.00	\$4,500.00	\$90,000.00	\$3,500.00	\$70,000.00
131	Precast Lid, 4'x 4' w/ MH access	EA	50	\$1,050.00	\$52,500.00	\$2,000.00	\$100,000.00	\$2,500.00	\$125,000.00
132	Driveway grates (furnished) w/ brick channel	LF	50	\$50.00	\$2,500.00	\$200.00	\$10,000.00	\$1,500.00	\$75,000.00
133	Heavy Duty Road grates (furnished) w/ concrete channel	LF	50	\$65.00	\$3,250.00	\$200.00	\$10,000.00	\$500.00	\$25,000.00
134	Lawn sprinkler system repair	LF	500	\$15.00	\$7,500.00	\$30.00	\$15,000.00	\$150.00	\$75,000.00
135	Lawn sprinkler heads Installed complete	EA	50	\$30.00	\$1,500.00	\$75.00	\$3,750.00	\$500.00	\$25,000.00
136	Sod-Fescue, all types	SF	1,000	\$9.00	\$9,000.00	\$5.00	\$5,000.00	\$50.00	\$50,000.00
137	Sod-Bermuda, all types	SF	1,000	\$9.00	\$9,000.00	\$5.00	\$5,000.00	\$50.00	\$50,000.00
138	Sod-Zoysia, all types	SF	500	\$9.00	\$4,500.00	\$5.00	\$2,500.00	\$50.00	\$25,000.00
139	Sod-Centipede, all types	SF	1,000	\$9.00	\$9,000.00	\$5.00	\$5,000.00	\$50.00	\$50,000.00
140	Saw cut pavement to 9" depth max.	LF	100	\$30.00	\$3,000.00	\$30.00	\$3,000.00	\$50.00	\$5,000.00
141	Erosion control mat (hemp type)	SY	100	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$15.00	\$1,500.00
142	Filter fabric	SY	100	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$20.00	\$2,000.00
143	Alum Handrails GDOT std. 3626	LF	50	\$110.00	\$5,500.00	\$200.00	\$10,000.00	\$250.00	\$12,500.00
144	Cofferdam	CY	50	\$950.00	\$47,500.00	\$50.00	\$2,500.00	\$500.00	\$25,000.00
145	Flowable Fill; 700 psi	CY	60	\$200.00	\$12,000.00	\$500.00	\$30,000.00	\$500.00	\$30,000.00
146	Adjust Exist. CB to grade	VF	10	\$800.00	\$8,000.00	\$50.00	\$500.00	\$1,500.00	\$15,000.00
147	Adjust Exist. DI to grade	VF	10	\$600.00	\$6,000.00	\$50.00	\$500.00	\$1,500.00	\$15,000.00
148	Adjust Exist. MH to grade	VF	10	\$500.00	\$5,000.00	\$50.00	\$500.00	\$1,500.00	\$15,000.00
149	Adj. Minor structure to grade	VF	10	\$500.00	\$5,000.00	\$50.00	\$500.00	\$1,500.00	\$15,000.00
150	Adjust water meter to grade	EA	30	\$500.00	\$15,000.00	\$50.00	\$1,500.00	\$750.00	\$22,500.00
151	Guardrail, Type T w/ std. Ends	LF	60	\$100.00	\$6,000.00	\$100.00	\$6,000.00	\$1,500.00	\$90,000.00
152	Guardrail, Type W w/ std. Ends	LF	60	\$100.00	\$6,000.00	\$100.00	\$6,000.00	\$2,000.00	\$120,000.00
153	Safety Barrier Fence (orange) 4 ft. high	LF	100	\$2.00	\$200.00	\$10.00	\$1,000.00	\$5.00	\$500.00
154	Junction box (to grade with MH lid)	VF	10	\$750.00	\$7,500.00	\$50.00	\$500.00	\$7,500.00	\$75,000.00

COMPANY					South, Inc.	Kemi Constr	Kemi Construction Co, Inc.		GS Construction, Inc.	
ITEM No.	DESCRIPTION	UNIT	APPROX. QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
155	Spring Box (4' x 4' with MH lid)	EA	10	\$800.00	\$8,000.00	\$1,000.00	\$10,000.00	\$7,500.00	\$75,000.00	
156	Mailbox (Brick)	EA	10	\$1,200.00	\$12,000.00	\$50.00	\$500.00	\$1,500.00	\$15,000.00	
157	Mailbox (post type)	EA	20	\$150.00	\$3,000.00	\$50.00	\$1,000.00	\$1,000.00	\$20,000.00	
158	Misc. shrubs (3 gals)	EA	20	\$40.00	\$800.00	\$300.00	\$6,000.00	\$500.00	\$10,000.00	
159	Misc. trees (10 gals)	EA	20	\$85.00	\$1,700.00	\$1,000.00	\$20,000.00	\$750.00	\$15,000.00	
160	Misc. trees (5 gals)	EA	20	\$400.00	\$8,000.00	\$800.00	\$16,000.00	\$500.00	\$10,000.00	
161	Laborer	HR	80	\$50.00	\$4,000.00	\$100.00	\$8,000.00	\$150.00	\$12,000.00	
162	Equip. Operator	HR	80	\$95.00	\$7,600.00	\$125.00	\$10,000.00	\$200.00	\$16,000.00	
163	Truck Driver	HR	80	\$65.00	\$5,200.00	\$125.00	\$10,000.00	\$225.00	\$18,000.00	
164	Mason	HR	40	\$75.00	\$3,000.00	\$125.00	\$5,000.00	\$250.00	\$10,000.00	
165	Foreman	HR	40	\$100.00	\$4,000.00	\$150.00	\$6,000.00	\$275.00	\$11,000.00	
	Total				\$1,696,330.00		\$3,051,850.00		\$6,073,200.00	
		Hyd	ro Jet Storm D	rain Cleaning (less	than 50% full)					
166	12" to 30" Pipe Clean, less than 50% full	LF	3,300	\$10.00	\$33,000.00	\$75.00	\$247,500.00	\$30.00	\$99,000.00	
167	36" to 48" Pipe Clean, less than 50% full	LF	2,400	\$12.00	\$28,800.00	\$80.00	\$192,000.00	\$60.00	\$144,000.00	
168	54" to 66" Pipe Clean, less than 50% full	LF	2,100	\$15.00	\$31,500.00	\$100.00	\$210,000.00	\$100.00	\$210,000.00	
169	72" to 78" Pipe Clean, less than 50% full	LF	1,000	\$20.00	\$20,000.00	\$120.00	\$120,000.00	\$150.00	\$150,000.00	
170	84" Pipe Clean, less than 50% full	LF	200	\$25.00	\$5,000.00	\$250.00	\$50,000.00	\$200.00	\$40,000.00	
171	90" Pipe Clean, less than 50% full	LF	200	\$30.00	\$6,000.00	\$250.00	\$50,000.00	\$250.00	\$50,000.00	
172	96" Pipe Clean, less than 50% full	LF	200	\$35.00	\$7,000.00	\$300.00	\$60,000.00	\$500.00	\$100,000.00	
	Total				\$131,300.00		\$929,500.00		\$793,000.00	
		Hydr	o Jet Storm Dr	ain Cleaning (50%	full or greater)			_		
173	12" to 30" Pipe Clean, 50% full or greater	LF	2,500	\$15.00	\$37,500.00	\$85.00	\$212,500.00	\$60.00	\$150,000.00	
174	36" to 48" Pipe Clean, 50% full or greater	LF	1,500	\$20.00	\$30,000.00	\$90.00	\$135,000.00	\$90.00	\$135,000.00	
175	54" to 66" Pipe Clean, 50% full or greater	LF	900	\$25.00	\$22,500.00	\$110.00	\$99,000.00	\$150.00	\$135,000.00	
176	72" to 78" Pipe Clean, 50% full or greater	LF	900	\$30.00	\$27,000.00	\$130.00	\$117,000.00	\$225.00	\$202,500.00	
177	84" Pipe Clean, 50% full or greater	LF	200	\$35.00	\$7,000.00	\$200.00	\$40,000.00	\$300.00	\$60,000.00	
178	90" Pipe Clean, 50% full or greater	LF	200	\$40.00	\$8,000.00	\$200.00	\$40,000.00	\$350.00	\$70,000.00	
179	96" Pipe Clean, 50% full or greater	LF	200	\$45.00	\$9,000.00	\$250.00	\$50,000.00	\$400.00	\$80,000.00	
	Total	Enosial St	oum Line Clear	ning & Clearing –	\$141,000.00	huio	\$693,500.00		\$832,500.00	
180	12" to 36" Pipe	LF	100	\$50.00	\$5,000.00	\$250.00	\$25,000.00	\$75.00	\$7,500.00	
181	42" to 96" Pipe	LF	100	\$55.00	\$5,500.00	\$400.00	\$40,000.00	\$150.00	\$15,000.00	
101	Total	Li	100	\$55.00	\$10,500.00	\$400.00	\$65,000.00	\$150.00	\$22,500.00	
10tal CCTV of Storm Pipes (w/Video & W							\$05,000.00		\$22,500.00	
182	12" to 15"	LF	100	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$20.00	\$2,000.00	
183	18" to 24"	LF	1,000	\$10.00	\$10,000.00	\$12.00	\$12,000.00	\$30.00	\$30,000.00	
184	30" to 42"	LF	1,000	\$10.00	\$10,000.00	\$13.00	\$13,000.00	\$40.00	\$40,000.00	
185	48" to 54"	LF	1,000	\$10.00	\$10,000.00	\$15.00	\$15,000.00	\$50.00	\$50,000.00	
186	60" to 66"	LF	50	\$10.00	\$500.00	\$30.00	\$1,500.00	\$75.00	\$3,750.00	
187	72" to 84"	LF	500	\$10.00	\$5,000.00	\$30.00	\$15,000.00	\$100.00	\$50,000.00	
188	90" to 96"	LF	200	\$10.00	\$2,000.00	\$40.00	\$8,000.00	\$200.00	\$40,000.00	

COMPANY				Jewel of the	South, Inc.	Kemi Constr	Kemi Construction Co, Inc.		GS Construction, Inc.	
ITEM No.	DESCRIPTION	UNIT	APPROX. QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
189	Visual Inspections (pics per project)	EA	40	\$10.00	\$400.00	\$750.00	\$30,000.00	\$250.00	\$10,000.00	
190	Work Allowance	LS	1	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	
	Total		\$188,900.00		\$245,500.00		\$375,750.00			
	Total Bid				\$2,168,030.00		\$4,985,350.00		\$8,096,950.00	
LSBE P	articipation Benchmark/GFE			N/A		N/A		N/A		
Attenda	Attendance at the Mandatory LSBE Meeting (Yes/No)				N/A		N/A		N/A	
Separate	Separate Sealed Price Schedule (Yes/No)				Yes		Yes		Yes	
Attenda	Attendance at the Mandatory Pre-Bid Meeting				es	Yes		Yes		

The "amount" must be equal to the "unit price" multiplied by "approx. quantity".

The Price Schedule submitted by Jewel of the South, Inc., contained calculation errors for the following line items reflected above highlighted in yellow:

Line #20 (66" RCP): Submitted "amount" was \$39,996.00; the correct "amount" is \$36,360.00.

Line #52 (12" Conc. FES): Submitted "amount" was \$4,450.00; the correct "amount" is \$4,500.00.

Line #150 (Adjust water meter to grade): Submitted "amount" was \$1,500.00; the correct "amount" is \$15,000.00.

The total bid for all line items was submitted as \$2,149,166.00. The correct total and sum of all line items is \$2,168,030.00, as reflected above in yellow.

The Price Schedule submitted by Kemi Construction Company Inc., contained calculation errors for the following line items reflected above highlighted in green:

Line #125 (72" poly pipes): Submitted "amount" was \$14,000.00; the correct "amount" is \$3,400.

The total bid for all line items was submitted as \$4,988,450.00. The correct total and sum of all line items is \$4,985,350.00, as reflected above in green.

The Price Schedule submitted by GS Construction, Inc., contained calculation errors for the following line items reflected above highlighted in blue:

Line #82 (Conc. Flume (includes #4 rebar @ 6" o.c./e.w.): Submitted "amount" was \$20,000.00; the correct "amount" is \$22,500.00.

Line #167 (36" to 48" Pipe Clean, less than 50% full): Submitted "amount" was \$114,000.00; the correct "amount" is \$144,000.00.

The total bid for all line items was submitted as \$8,094,450.00 The correct total and sum of all line items is \$8,096,950.00, as reflected above in blue.

Witness	s:		
Agent:			